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Questlon No. 1 is compulsory. Attempt any four of the remaining seven.
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1. .erte short notes on any two :
@ 'Balanced Budget Multiplier
'('ii)- ‘Nei :Expdrt Fﬁnctio‘n : | o _ 7 )
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(@) . Discuss the steps involved in Expendlture Method of measuring National Income.

‘()  Explain the problem of double counting in National Income Calculation. Howcanitbe -

avoided‘T S - L 105
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'(.a) | Suppose the Consumptiof_l Functioh 'is'g'iven as under :
C= 50 + lQ-.‘n75-Y' B
- ()~ Writethe correspon_ding-Saying Fun'ction.}At what.level of income, would saving

become zero ?

(i) If the autonomous investment with the above Consumption Function is Rs. 200

crores, at what level of income would saving be équal to investment ?

(b) Do you think iarger savings lead to larger National Income ? . v 7‘/;, '7_‘/2‘
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What -is Investment 'Multipliér‘? Hon is the value of multiplier determined ? Mention
.the vgri_ous_leakgges..in thevmul‘tiplier process. |

What will be the valus of multplicr, i Consumptioh Functio.nvi‘é Cc= 160 . 0.75Y ? 10,5
ﬁéﬂgﬂt&ﬁw% ? erﬁmmﬁwﬁam% ? Wm'.
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Di’stmguish between actual GDP and potentia_l GDP. How would we correct this gap

" in a three-sector model ?
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* Autonomous Ihi{éstment (D) = Rs. 200 crores

Given:

Consﬁmpﬁon Function C = 150 + 0.75 Y, ;'Where Yy = Y - T ..

 PTO. -
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Gove’mme'nt Expenditure (G) = Rs 250 crores
xTaxes M=03Y

What would be the requu'ed Government Expendlture, 1f Govemment wants to raise

the GDP by Rs 500 crores ? o | 10,5
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Given the following information about an economy :

Consurn,ptién Functlon C = 100 + 0.6.Y, Whefe Y;=Y-T
~ Autonomous myestnient | | R = Rs. 500 crores “

Government Expenditure G = Rs. 800 'crores‘ L

Téxés : _ | o T = Rs. 200 crores

Expoﬁs - - | X = Rs. 200 crorés

Import Function M =50+ 03Y




Find out :

()  Equilibrium level of GDP

(i)  Marginal propensity to savé

(z'z'z‘)v _ Dispésable income

(v)  Net exports at edﬁilibrium GDP

(v) Value of equilibrium GDP if exports increase by Rs. 100 crores.
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(@) What do you understand by “Money” ? List and explain the functions of money.

‘(b))  What do you understand by ‘Quantity Theory of Money’ ? T4, 7%
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(@) ‘gx & ufem faga’ @ a9 = uwee € 2
(¢)  Explain the process of credit creation by commercial banks.

(h)  Ifthe cash-reserve ratio changes from 0.1 to 0.2, will there be any change in the credit

creating power of a bank ? . 10,5
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